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Rational Expressions and Equations Lesson #8: Rational Equations Part Two 427

An Equation with No Solution

1 4
Show that the equation S;t 30 -4 = 10x_+3 has no solution.

Complete Assignment Questions #1 - #7

Assignment

In this assignment, a written verification is only required where indicated.
All solutions must be checked for nonpermissible values.

1. Ineach case, state the nonpermissible value(s), solve the equation algebraically, and verify
the solution(s).
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2. Ineach case, state the nonpermissible value(s), solve the equation algebraically, and verify
the solutlon(s)
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3. Solve the following equations algebraically.
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4. Determine the roots of the fol]owmg equations algebrmcally
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5. Determine the roots of the equahon 8_ 5=+ m simplest radical form. form.
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: 6 The solution to the equation __6\" £ - 6

a

A. a= 18 - -
B. a=-6 -lq 3(,\_\@,‘{.0\.

@“01- Ha -1§ = oo
no solution
1§ =Oo
o 0

fnoir pcf,sib\t 30 no solufon

fail
Numerical g (x 37 &X.\-\)

Resporise 7. 'The roots oftherationalequation Zx l S+l are x =g and x = -b, where a, b > 0.

The value of <, to the nearest hundredth, is

b )
(Record your answer in the numerical response box from left to right.) O . 1
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Answer Key 3 L’
1. a) x=-3 b) x=5 2.2) x=0 b) 1o solution
3.a) x=3,5 b) x=-3,4 4. a) nosolution  b) x=3,4
5. x=-5x+/41 6. D 7.00 ) .17
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